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“Regression toward the mean”

Francis Galton (1822-1911)



TUONG QUAN

Twong quan:do lwong sw két hop tuyén tinh gitra 2 bien
X,y (khéng co sw phan biét gilra 2 bién)
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The independent variable is tuoi.
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Coefficients
Standardized
Unstandardized Coeflicients Coefficients
B St Errar Beta 1 Sig.
tuni 1.960 B0 818 12.240 oo
(Constant) viT3 B24 12.464 o0
cannang
22.57

Y =1,96 X +7,77

Can nang= 7,77 + 1,96 (tudi)

12.59
P
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Hoi qui: wéc lwong, dw bao bieny trén co sé bién X da cho
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intercept slope  residuals
Diem cat Do dog Phan dw
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L€ residuals

intercept
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Cannang
207
187
167
147
127
10 T T T T
1 2 3 4 5
AMOWA
Sum of
Souares of hean Souare F i
Regression BE.0a7 1 BE.0487 126.000 .aoa
Fesidual 1.943 4 486
Total F8.000 )

The independentvariable is Tuoi.
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Model Summanry
Adjusted R Std. Error of
R R Sguare SrjLuare the Estimate
HBE AT R4 Bar

The independent variable is Tuoi.

ANOWA
Sum of
Sruares dr Mean Sgquare F =1[v R
Fegression B6.057 B6.057 136.000 000
Fesidual 1.943 4386
Total GE.000

The independent variable is Tuoi.
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cannang
20 _
18]
16
14
12
10 .
1 ! a ; ! T tuoi
ANOVA
sum of
aguares df Mean Sgquare F Sig.
Regression 70.000 1 70.000
Residual non 4 oo
Total 70.000 f

The independent variable is tuoi.
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Model Summany

Adjusted R Stol. Error of
F F Sguare Sguare the Esfimate
1.000 1.000 1.000 000

The independent variable is Tuoi.

ANOWA
Sum of
Sruares df Mean Square .
Regression F0.000 1 F0.000
Fesidual oo oo
Tatal F0.000 a

The independent variable is Tuoi.
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